o34 (a - b)(a® + ab + b?) & ZA7H5A?

® a®-b? @ a® -1
® a®+ b3 @ a®+ 3a’b + 3ab® + b3

B a3 = 3a2b + 3ab? — b3
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@© m(a+ b) = ma+ mb

@ (a+b)? =a®+ 2ab + b?

® (a-b)(a+b)=a®-b?

@ (x+a)(x+b)=x*+(a+b)x+ab

® a?+b%=(a+b)>-2ab



3. x+y=4, xy=3% 1, x* - xy+y* 9] S ot



4. x+y+z=3 xytystax=-1 Lo x*+y+22 O] S FoFAY
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6. (BPt+ax+2)(x®+bx+2)E ANFAS W, 22 F B3 AFE RF0
o] A Sh= 44 a, boll st a+ b 2] F2?

® -2 @ -1 ®1 @ 2 ®

N | Qo



@ (2% +2y?) - 2(y* - 3x?) = 7x?
@ (x+y)® =2+ 3%y + 30> +°
@D (x+y+2?2=x2+y2+22+2xy + 2yz7 + 22x

® P+ +(x+1)=x2-x+1
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9. (x-2y-3)°< A7kl xol et A0 2 Hajalr?

D x? + 4y? + 9z% — 4xy + 12yz — 62x
@ x% —4xy+4y? — 9722 + 12y7 — 6zx
® x% - (4y + 62)x + 4y? + 12yz + 972
@ 4y* +12yz+ 922 + (—4y - 67)x + x2

® 922 + 4y? + x?



10. (a-b-c)*S &A AN A2

@ a® + b? + ¢ + 2ab + 2bc + 2ca
@ a®+ b? + ¢ - 2ab — 2bc — 2ca
® a?-b% - % —2ab - 2bc - 2ca

@ a® + b% + ¢ - 2ab + 2bc — 2ca

B a2 =b%2=0c24+9ab - 2bc — 2ca



O (x+1)(x-x+1)=x3+1
@ (a+2b-3c)* = a2 + 4b* + 9¢2 + 4ab — 12bc — 6ac
® (x+2)(xP-2x+4)=x>+38

(xQ—xy+y2) (x2+xy—|—y2) =x4—x2y2+y4

@
® (x-1) (x+1)2=xt-2x2+1



12. (a+b-c)(a—b+c)E H7HotaA?

@ a?+b%-c2%-2bc @ a® - b+ % - 2bc
® a®+b%-c%+2ab @ a®-b?-c?+ 2bc

B a2 =b%2-=c2-9ab



13. oA 8% —1& 4x? + 2x + 12 S W9 & o(x) 2k & o
0(x) o] Aol Ap=?

@ -2 @ -1 3 0 @ 1 ® 2



D (x=y)? —xy(y=x) = (x=y)(x =y + xy)

@ 3a% -27b%* = 3(a + 3b)(a - 3b)

® 64a® - 125 = (4a + 5)(16a® — 20a + 25)

@ (R2-x)(P-x+1)=6=(2-x+3)(x+1)(x=2)

® 2x?-5x+3=(x-1)(2x-3)



15.

ARARA] Xt = 1027y + 9y* 9] 1527} ofd

® x-3y

@ x+vy

@ x-2y

® x+3y



